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1. If the volume of the solid generated by revolving the region bounded by the graphs

2 1
ofy:—,y:0,x:(),x:4ab0uttheliney:4isk:<ln5——>,thenk:
1+ 5)
Question 19, page 461
(a) 167 (correct)
(b) 87
(c) 4
(d) 27
(e) m
) [ V-3,
€T =
N
Example 4, page 544
(a) 1— ?7‘( (correct)
(b) V3%
3
(0 n_ Y3
2
(d) 2—+37
() 23+ =
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3. If the region enclosed by y? —4y = —x and = = 0 is revolving about the x-axis, then
the formula for the volume is

Question 27, page 470

4
(a) 277/0 y(4y - yQ) dy (correct)

(b) 27 /0 (v* — 4y) dy

4. The volume of the solid, generated by revolving the region bounded by the graph
of y =23 y =0, x = 2 about the line z = 4, is

Question 29, page 461

(correct)
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5. The arc length of the graph of y = In (sin z) over {4

3r/4
(a) / csc x dx
/4

3r/4
(b) / secx dx
/4

3r/4
(c) / tan x dx
/4

3r/4
(d) / cot x dx
/4

3r/4
(e) / In(cos® x) dz

/4

6. The area of the surface, generated by revolving the curve
y=+v9—220n —1<ax <1 about the z-axis, is
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Is t
4] equals to

Question 15, page 481

(correct)

Similar to Question 44, page 482

(correct)
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7. fx”ln:rdx =

xn—i—l

&) T

n+1

(n+1)Inz—1]+C

(n+ 1)

n

[z —1]+C

n+1[(n+1)lnx—1]—|—0

" 1Inx

n+1
n+1

+C

(n+ 1)

lnz—1]+C

4
8./ajsec_1xda::
2

—3v15 -4
(a) 85ecl4+3\/§ 36\5/_5 i

(b) 8sec 4 —sec 12
V3—Vh—m

(c) —sec 12

3
V3 —+5—2r
3

+sec 2

(d)

(e) 4sec 4 +6sec 2 —
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Question 69, page 530

(correct)

Question 51, page 530

(correct)

V3 —+6—2r

3
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9. /(lnx)2 dx =

(a) z[(Inz)* = 2Inz +2] +C
(b) (Inz)? —2lnz —2+C

(Inz)? e

vl

10./ cos® v dr =
0
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Question 7, page 529

(correct)

Question 15, page 538

Bl P NP W= Wb

(correct)
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11. /0804(3x) dr =

Question 51, page 539

(a) 1 cot(3z) — % cot®(3z) + C

3 (correct)
1 5

(b) = csc (3x)+C

(c) —% tan(3z) — % tan®(3z) + C

(d) —% cse(3z) — é csc?(3x) + C
1 1,

(e) 5 cotx—§ cot’xr + C

12. The volume of the solid, generated by revolving the region bounded by the graphs

of the equations y =tanz, y =0, x = _Tﬂ, r = il about the z-axis, is
Question 75, page 539

(a) ™ (2 — g) (correct)
(b) 27 (2 - f)
(c) 2w (1 —m)

s
7 (1-7)
@ (1-5
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1

V2

|+atan_ }JrC,thena:

7 1 x
13. Tf de == |1
/x4—2x2—8 ! 6[n T2

Question 17, page 557

(correct)

14, / st
cos T + cos?x

Question 25, page 557

(a) In |1 + sec ZE| +C (correct)
(b) In|2 +cscx|+C
(¢) In|6 + tanx| + C
(d) 61n|sinz + cosz|+ C
6
)

cos?x + cos3 x

(e
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15. / (1 —z)e “dx
1

Example 3, page 574

(a) converges to — (correct)
(b) converges to —

(c) converges to e

(d) converges to —e

(e) diverges

Question 43, page 579

In 3 (correct)
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17.j/gx/x2+—4dx::

Question 11, page 547
1
@)6@?+®3+C

(b) 5@+ 4)} +C

«g%ﬁ+®?+c

(d) 2zva22+4+C
2+ 4
(&) —-

(correct)

+C

18. Consider the solid formed by revolving the region bounded by y = \/x, y = 0, © = 2,

and x = 4 about the x-axis. The values of x, in the interval [2,4] that divide the
solid into three parts of equal volume, are

Similar to Question 58, page 462

a) 2¢/2and 2/3

(a) (correct)

(b) V5 and 3

(c) 2¢/2 and 3v/5

(d) 2v/3 and 3/3
)

(e) V6 and v/5
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